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How does a steam turbine generator work?

A steam turbine generator works by heating water to extremely high temperatures until it is converted into
steam, then the steam energy is used to rotate the blades of a turbine to create mechanical or rotational energy.
This rotational energy caused by the high pressured steam turbine is used to generate electricity from an
attached generator.

How does a steam turbine increase efficiency?

If high-pressure, high-temperature steam is partially expanded through a turbine, the efficiency can be
increased by returning the steam to the steam generator and reheating it to approximately its original
temperature before feeding it back to the turbine. Single reheat turbines are common in the electric utility
industry.

How fast does a steam turbine spin?

(A typical power plant steam turbine rotates at 1800-3600 rpm--about 100-200 times faster than the blades
spin on a typical wind turbinewhich needs to use a gearbox to drive a generator quickly enough to make
electricity.)

How does a high velocity steam turbine work?

So the impulse force of high-velocity steam exerts a force on the blade to turn the rotor. The kinetic energy of
the steam is transferred to the rotating wheel by momentum transfer within the blades. Pelton Wheel ,Banki
Turbine,etc are typical examples of Impulse turbines.

What happensif steam isfed to a turbine?

If high-pressure and high-temperature steam is fed to a turbinethe steam is allowed to expand across the
turbine,and the volume increases. During expansion,as the volume increases,the pressure drops,which in turn
causes the temperature to drop. Figure 3.2ais a schematic that summarizes how the steam plays a role in the
turbine.

How much pressure does a steam turbine have?

Steam entering a turbine at a high pressure and temperature--say, 24,100 kilopascal s gauge,or 3,500 pounds per
square inchgauge (where gauge denotes pressure above atmospheric value),and 600 &#176;C--can have a
volume increase of more than a thousandfold if it is expanded to below atmospheric condenser pressures.

In essence, these steam turbine generators harness the energy from converted heat energy to produce rotational
motion. Steam turbines work alot like a windmill you see today, but it uses the pressure of the steam to move
instead of wind.
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OverviewPrinciple  of operation and designHistoryManufacturingTypesDirect driveMarine
propulsionLocomotivesAn ideal steam turbine is considered to be an isentropic process, or constant entropy
process, in which the entropy of the steam entering the turbine is equal to the entropy of the steam leaving the
turbine. No steam turbine is truly isentropic, however, with typical isentropic efficiencies ranging from 20 to
90% based on the application of the turbine. The interior of aturbine comprises sev...

Reheat and nonreheat turbines. If high-pressure, high-temperature steam is partialy expanded through a
turbine, the efficiency can be increased by returning the steam to the steam generator and reheating it to
approximately itsoriginad ...

If high-pressure, high-temperature steam is partially expanded through a turbine, the efficiency can be
increased by returning the steam to the steam generator and reheating it to approximately its original
temperature before feeding it back to ...

The burning of fuel produces high-temperature, high-pressure gases that drive the turbine's blades. Turbine:
The turbine consists of a series of blades mounted on a shaft. Asthe high ...

The key to producing high-pressure steam is to produce high-temperature steam. If high-pressure and
high-temperature steam is fed to a turbine, the steam is allowed to expand across the turbine, and the volume

Key words: High temperature active magnetic bearing, HTAMB, turbomachine, industrial steam turbine,
opti-mization 1. Introduction Active magnetic bearings (AMB) are an essential key ...

An electric generator, known as a steam turbine generator, is connected to the rotor shaft. ... Modern steam
turbines can achieve high efficiency, typically ranging from 30% to 40% for ...

Typical Power Plant Steam Turbine and Generator. A typical marine steam turbine will operate at 65 bar (943
psi) and 515?2C (9597F) at the HP turbine inlet. Steam is exhausted to the LP turbine at around 6 bar (87 psi) at
165?2C (3297F).

The steam generator converts the turbine shaft"s mechanical power into electrica power. The speed of the
steam turbine is directly proportional to the output power. Therefore, the steam ...

A Steam Turbine is an engine that converts heat energy from pressurized steam into mechanical energy where
the steam is expanded in the turbine in multiple stages to generate the required work. Steam turbine engines

areused to ...

It is an electrically heated steam generator (3 kW electric resistance). The resistor has an internal thermostat at
150& #186;C.This type of generator produces steam for an operating pressure of 0.9 ...
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